



Himachal Pradesh University
NAAC Accredited 'A' Grade University

Tabulation Sheet in respect of Second Year Examination held in APRIL 2025. The Result of the student has been shown against their names and roll no.

Abbreviations

TE - Term End Examination	GP - Grade Point	M.O. - Marks Obtained	M* - Marks with Grace
CCA - Continuous Comprehensive Assessment	CP - Credit Point(Credit X Grade)	M.P.M - Minimum Passing Marks	* - CCA not entered
GL - Grade Letter	GR - Grace	M.M. - Maximum Marks	** - TE not entered
CR - Credit Earned	UMC/U - Unfair Means Case	M" - Reval Marks	TMM - Total Max Marks
COMP. - Compartment	LCC - Late College Capacity		

Grading :- Absolute Grading

Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade
95% and above	10.0	S+	75 to less than 80 % Marks	8.0	O	55 to less than 60% Marks	6.0	B+
90 to less than 95% Marks	9.5	S	70 to less than 75% Marks	7.5	A++	50 to less than 55% Marks	5.5	B
85 to less than 90% Marks	9.0	O++	65 to less than 70% Marks	7.0	A+	40 to less than 50% Marks	5.0	C
80 to less than 85% Marks	8.5	O+	60 to less than 65% Marks	6.5	A	less than 40% Marks	0	F

Candidate has to obtain 35% marks each in TE,CCA and 40% in Practical and 40% marks in aggregate to pass in a subject.

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

College Name : GOVT. DEGREE COLLEGE DIGGAL, DISTT. SOLAN (HP)

UNIV ROLL NO : 1231880001	FATHER'S NAME : DEV RAJ		MOTHER'S NAME : MEENA DEVI		Exam Type : FRESH																
CAND.NAME : ANJALI BANGA	Paper Detail																				
REG NO : 23-GDC-23	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status
Paper Name	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Macroeconomics-I (ECONA201)	28	11	30	38	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	6.84	6.87	A+	PASS
Principles of Macroeconomics-II (ECONA202)	28	11	30	49	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Real Analysis (MATH201)	26	11	30	30	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Algebra (MATH202)	28	11	30	40	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	29	11	30	25	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	25	11	30	53	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Integral Calculus (MATH309)	26	11	30	25*	25	70	-	-	-	4	51	40	100	B	5.50	4	22.00				
Vector Calculus (MATH310)	27	11	30	44	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
										4	MO/MM- 521 / 800					TC-44	TCP - 301.00	Dis. -			
First Year: MO/MM- 529/800	TC- 44			TCP- 303.00			GPA- 6.89						Grand Total: 1050			TMM: 1600					

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1231880003 CAND.NAME : DIKSHA KUMARI REG NO : 23-GDC-35			FATHER'S NAME : SHYAM LAL PAL							MOTHER'S NAME : NARBDA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Hindi Kavita (HIND202)	23	11	30	51	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	6.93	-	A+	PASS
Hindi Gadya Sahitya (HIND203)	24	11	30	59	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Comparative Government & Politics (POLS 201)	21	11	30	43	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Introduction to International Relations (POLS 202)	22	11	30	43	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	22	11	30	25*	25	70	-	-	-	7	47	40	100	C	5.00	6	30.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	23	11	30	52	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Legislative Support (POLS 203)	18	11	30	41	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
Public Opinion & Survey Research (POLS 204)	19	11	30	44	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
										7	MO/MM- 530 / 800					TC-44	TCP - 305.00	Dis. -			
First Year: MO/MM- /			TC-			TCP-			GPA-							Grand Total: -				TMM: 1600	
UNIV ROLL NO : 1231880004 CAND.NAME : DIPTI SHARMA REG NO : 23-GDC-36			FATHER'S NAME : SURINDER KUMAR							MOTHER'S NAME : BABITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Hindi Kavita (HIND202)	19	11	30	37	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
Hindi Gadya Sahitya (HIND203)	19	11	30	43	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Sociological Theories (SOCL-A 201)	21	11	30	34	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00				
Methods of Sociological Enquiry (SOCL-A 202)	22	11	30	27	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	14	25	70	-	-	-	-	40	40	100	F	0.00	6	0.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	19	11	30	42	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Karyalayi Hindi (HIND204)	20	11	30	32	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
Anuvaad Vigyan (HIND206)	19	11	30	46	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- /			TC-			TCP-			GPA-							Grand Total: -				TMM: 1600	
UNIV ROLL NO : 1231880005 CAND.NAME : GUNJAN REG NO : 23-GDC-1			FATHER'S NAME : ASHWANI KUMAR							MOTHER'S NAME : MEERA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	5.98	6.05	B+	PASS
History of India, c. 1707-1950 (HIST(A)204)	24	11	30	37	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Comparative Government & Politics (POLS 201)	16	11	30	41	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Introduction to International Relations (POLS 202)	20	11	30	46	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	25*	25	70	-	-	-	8	48	40	100	C	5.00	6	30.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	21	11	30	41	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Legislative Support (POLS 203)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
Public Opinion & Survey Research (POLS 204)	17	11	30	33	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
										8	MO/MM- 452 / 800					TC-44	TCP - 263.00	Dis. -			
First Year: MO/MM- 465/800			TC- 44			TCP- 269.00			GPA- 6.11							Grand Total: 917				TMM: 1600	

UNIV ROLL NO : 1231880006 CAND.NAME : KAJAL REG NO : 23-GDC-11			FATHER'S NAME : SATYA PAL							MOTHER'S NAME : SUNITA DEVI							Exam Type : FRESH											
Paper Detail																												
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status							
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M															
History of India, c. 1206-1707 (HIST(A)203)	28	11	30	58	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00	8.91	8.46	O++	PASS							
History of India, c. 1707-1950 (HIST(A)204)	28	11	30	38	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00											
Comparative Government & Politics (POLS 201)	30	11	30	55	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00											
Introduction to International Relations (POLS 202)	30	11	30	61	25	70	-	-	-	-	91	40	100	S	9.50	6	57.00											
English-2 Core English (Compulsory) (ENG CE 201)	29	11	30	58	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00											
Anivarya Hindi 'Rachna Punj' (HIND201)	29	11	30	61	25	70	-	-	-	-	90	40	100	S	9.50	6	57.00											
Historical Tourism (HIST(A)213)	28	11	30	64	25	70	-	-	-	-	92	40	100	S	9.50	4	38.00											
An Introduction to Archaeology (HIST(A)215)	28	11	30	61	25	70	-	-	-	-	89	40	100	O++	9.00	4	36.00											
										-	MO/MM- 686 / 800					TC-44	TCP - 392.00	Dis. -										
First Year: MO/MM- 616/800			TC- 44							TCP- 352.00							GPA- 8.00				Grand Total: 1302				TMM: 1600			
UNIV ROLL NO : 1231880008 CAND.NAME : KULDEEP KUMAR REG NO : 23-GDC-21			FATHER'S NAME : BELI RAM							MOTHER'S NAME : NANKEE							Exam Type : FRESH											
Paper Detail																												
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status							
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M															
Aadhunik Hindi Kavita (HIND202)	23	11	30	42	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00	-	-	-	-							
Hindi Gadya Sahitya (HIND203)	22	11	30	54	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00											
Ancient Granthas & Contribution of Musicologists (MUSA201TH)	13	5	15	12	12	35	-	-	-	-	25	20	50	B	5.50	3	16.50											
Practical(Stage Performance) (MUSA202PR)	14	5	15	-	-	-	33	14	35	-	47	20	50	S	9.50	3	28.50											
Medieval Granthas & Contributions of Musicians (MUSA203TH)	13	5	15	20	12	35	-	-	-	-	33	20	50	A+	7.00	3	21.00											
Practical(Viva-Voice) (MUSA204PR)	14	5	15	-	-	-	31	14	35	-	45	20	50	S	9.50	3	28.50											
English-2 Core English (Compulsory) (ENG CE 201)	24	11	30	29	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00											
Anivarya Hindi 'Rachna Punj' (HIND201)	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00											
Value Based & Practical Oriented Course for Hindustani Music(Presentation & Document-I) (MUSA205PR)	13	5	15	-	-	-	30	14	35	-	43	20	50	O++	9.00	4	36.00											
Value Based & Practical Oriented Course for Hindustani Music(Presentation & Document-II) (MUSA206PR)	14	5	15	-	-	-	-	14	35	-	-	20	50	#	0.00	4	0.00											
										-	MO/MM- - / 700					TC-44	TCP - -	Dis. -										
First Year: MO/MM- 502/800			TC- 44							TCP- 298.00							GPA- 6.77				Grand Total: -				TMM: 1500			
UNIV ROLL NO : 1231880009 CAND.NAME : KUMAR GAURAV REG NO : 23-GDC-5			FATHER'S NAME : BIR SINGH							MOTHER'S NAME : RAMESHWARI DEVI							Exam Type : FRESH											
Paper Detail																												
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status							
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M															
History of India, c. 1206-1707 (HIST(A)203)	25	11	30	41	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)							
History of India, c. 1707-1950 (HIST(A)204)	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00											
Comparative Government & Politics (POLS 201)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00											
Introduction to International Relations (POLS 202)	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00											
English-2 Core English (Compulsory) (ENG CE 201)	22	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00											
Anivarya Hindi 'Rachna Punj' (HIND201)	21	11	30	57	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00											
Legislative Support (POLS 203)	21	11	30	41	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00											
Public Opinion & Survey Research (POLS 204)	21	11	30	36	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00											
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -										
First Year: MO/MM- 453/800			TC- 44							TCP- 262.00							GPA- 5.95				Grand Total: -				TMM: 1600			

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1231880010 CAND.NAME : MEENAKSHI REG NO : 23-GDC-6			FATHER'S NAME : DESH RAJ							MOTHER'S NAME : VIDYA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	28	11	30	62	25	70	-	-	-	-	90	40	100	S	9.50	6	57.00	8.00	7.59	O+	PASS
History of India, c. 1707-1950 (HIST(A)204)	28	11	30	33	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Sociological Theories (SOCL-A 201)	27	11	30	54	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Methods of Sociological Enquiry (SOCL-A 202)	28	11	30	54	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
English-2 Core English (Compulsory) (ENG CE 201)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Historical Tourism (HIST(A)213)	28	11	30	62	25	70	-	-	-	-	90	40	100	S	9.50	4	38.00				
An Introduction to Archaeology (HIST(A)215)	21	11	30	55	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 614 / 800					TC-44	TCP - 352.00	Dis. -			
First Year: MO/MM- 552/800			TC- 44			TCP- 316.00			GPA- 7.18			Grand Total: 1166				TMM: 1600					
UNIV ROLL NO : 1231880012 CAND.NAME : NEHA REG NO : 23-GDC-32			FATHER'S NAME : RAMESH KUMAR							MOTHER'S NAME : SULOCHNA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Hindi Kavita (HIND202)	17	11	30	41	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
Hindi Gadya Sahitya (HIND203)	15	11	30	43	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Sociological Theories (SOCL-A 201)	21	11	30	26	25	70	-	-	-	-	47	40	100	C	5.00	6	30.00				
Methods of Sociological Enquiry (SOCL-A 202)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	5	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	20	11	30	54	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Karyalayi Hindi (HIND204)	18	11	30	33	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
Anuvaad Vigyan (HIND206)	17	11	30	50	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 430/800			TC- 44			TCP- 248.00			GPA- 5.64			Grand Total: -				TMM: 1600					
UNIV ROLL NO : 1231880014 CAND.NAME : NEHA DEVI REG NO : 23-GDC-20			FATHER'S NAME : ARJUN SINGH							MOTHER'S NAME : SEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
History of India, c. 1707-1950 (HIST(A)204)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Comparative Government & Politics (POLS 201)	22	11	30	43	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Introduction to International Relations (POLS 202)	25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	5	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	18	11	30	46	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Legislative Support (POLS 203)	24	11	30	42	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Public Opinion & Survey Research (POLS 204)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 443/800			TC- 44			TCP- 256.00			GPA- 5.82			Grand Total: -				TMM: 1600					

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1231880016 CAND.NAME : NIHARIKA REG NO : 23-GDC-27			FATHER'S NAME : MAHENDER KUMAR							MOTHER'S NAME : MADHU							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	28	11	30	64	25	70	-	-	-	-	92	40	100	S	9.50	6	57.00	8.23	7.90	O+	PASS
History of India, c. 1707-1950 (HIST(A)204)	28	11	30	39	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Comparative Government & Politics (POLS 201)	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Introduction to International Relations (POLS 202)	30	11	30	57	25	70	-	-	-	-	87	40	100	O++	9.00	6	54.00				
English-2 Core English (Compulsory) (ENG CE 201)	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	27	11	30	55	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Historical Tourism (HIST(A)213)	28	11	30	58	25	70	-	-	-	-	86	40	100	O++	9.00	4	36.00				
An Introduction to Archaeology (HIST(A)215)	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 639 / 800					TC-44	TCP - 362.00	Dis. -			
First Year: MO/MM- 578/800			TC- 44			TCP- 333.00			GPA- 7.57			Grand Total: 1217				TMM: 1600					
UNIV ROLL NO : 1231880018 CAND.NAME : PRERNA REG NO : 23-GDC-14			FATHER'S NAME : SUSHIL KUMAR							MOTHER'S NAME : NISHA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	27	11	30	54	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	7.93	7.62	O	PASS
History of India, c. 1707-1950 (HIST(A)204)	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Comparative Government & Politics (POLS 201)	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Introduction to International Relations (POLS 202)	28	11	30	56	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
English-2 Core English (Compulsory) (ENG CE 201)	29	11	30	40	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	27	11	30	51	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Historical Tourism (HIST(A)213)	27	11	30	63	25	70	-	-	-	-	90	40	100	S	9.50	4	38.00				
An Introduction to Archaeology (HIST(A)215)	28	11	30	49	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 618 / 800					TC-44	TCP - 349.00	Dis. -			
First Year: MO/MM- 561/800			TC- 44			TCP- 321.00			GPA- 7.30			Grand Total: 1179				TMM: 1600					
UNIV ROLL NO : 1231880020 CAND.NAME : RESHAM REG NO : 23-GDC-7			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : MEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	21	11	30	32	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201,HIST (A)204)
History of India, c. 1707-1950 (HIST(A)204)	18	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Comparative Government & Politics (POLS 201)	16	11	30	29	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Introduction to International Relations (POLS 202)	16	11	30	25	25	70	-	-	-	-	41	40	100	C	5.00	6	30.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Historical Tourism (HIST(A)213)	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	4	26.00				
An Introduction to Archaeology (HIST(A)215)	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 395/800			TC- 44			TCP- 234.00			GPA- 5.32			Grand Total: -				TMM: 1600					

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1231880022 CAND.NAME : SAPNA CHANDEL REG NO : 23-GDC-9			FATHER'S NAME : RANGI RAM							MOTHER'S NAME : KAMLESH							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	27	11	30	68	25	70	-	-	-	-	95	40	100	S+	10.00	6	60.00	7.70	7.42	O	PASS
History of India, c. 1707-1950 (HIST(A)204)	19	11	30	42	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Comparative Government & Politics (POLS 201)	24	11	30	49	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Introduction to International Relations (POLS 202)	28	11	30	55	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
English-2 Core English (Compulsory) (ENG CE 201)	25	11	30	31	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Legislative Support (POLS 203)	26	11	30	52	25	70	-	-	-	-	78	40	100	O	8.00	4	32.00				
Public Opinion & Survey Research (POLS 204)	28	11	30	40	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00				
										-	MO/MM- 590 / 800					TC-44	TCP - 339.00	Dis. -			
First Year: MO/MM- 556/800			TC- 44			TCP- 314.00			GPA- 7.14			Grand Total: 1146				TMM: 1600					
UNIV ROLL NO : 1231880023 CAND.NAME : SATYAM SHARMA REG NO : 23-GDC-31			FATHER'S NAME : RAMESH CHAND SHARMA							MOTHER'S NAME : NARVADA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Hindi Kavita (HIND202)	20	11	30	49	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00	6.59	6.06	A+	PASS
Hindi Gadya Sahitya (HIND203)	18	11	30	55	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Comparative Government & Politics (POLS 201)	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to International Relations (POLS 202)	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	18	11	30	50	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Legislative Support (POLS 203)	20	11	30	45	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
Public Opinion & Survey Research (POLS 204)	22	11	30	30	25	70	-	-	-	-	52	40	100	B	5.50	4	22.00				
										-	MO/MM- 503 / 800					TC-44	TCP - 290.00	Dis. -			
First Year: MO/MM- 420/800			TC- 44			TCP- 243.00			GPA- 5.52			Grand Total: 923				TMM: 1600					
UNIV ROLL NO : 1231880024 CAND.NAME : SHEETAL KUMARI REG NO : 23-GDC-30			FATHER'S NAME : RAM KISHAN							MOTHER'S NAME : GEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Hindi Kavita (HIND202)	19	11	30	42	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
Hindi Gadya Sahitya (HIND203)	16	11	30	52	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Sociological Theories (SOCL-A 201)	24	11	30	41	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Methods of Sociological Enquiry (SOCL-A 202)	25	11	30	44	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	20	11	30	50	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Karyalayi Hindi (HIND204)	21	11	30	42	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
Anuvaad Vigyan (HIND206)	20	11	30	44	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 498/800			TC- 44			TCP- 286.00			GPA- 6.50			Grand Total: -				TMM: 1600					

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1231880026 CAND.NAME : SHUBHAM REG NO : 23-GDC-2			FATHER'S NAME : BALVIR SINGH							MOTHER'S NAME : BIMLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
History of India, c. 1707-1950 (HIST(A)204)	19	11	30	26	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Comparative Government & Politics (POLS 201)	17	11	30	28	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Introduction to International Relations (POLS 202)	19	11	30	27	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	3	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	16	11	30	41	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Legislative Support (POLS 203)	16	11	30	31	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
Public Opinion & Survey Research (POLS 204)	18	11	30	25	25	70	-	-	-	-	43	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- /			TC-			TCP-			GPA-							Grand Total: -				TMM: 1600	
UNIV ROLL NO : 1231880027 CAND.NAME : SWATI SHARMA REG NO : 23-GDC-29			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : LAKSHMI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	23	11	30	31	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (POLS 204)
History of India, c. 1707-1950 (HIST(A)204)	19	11	30	33	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Comparative Government & Politics (POLS 201)	17	11	30	39	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Introduction to International Relations (POLS 202)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
English-2 Core English (Compulsory) (ENG CE 201)	29	11	30	36	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	16	11	30	27	25	70	-	-	-	-	43	40	100	C	5.00	6	30.00				
Legislative Support (POLS 203)	18	11	30	42	25	70	-	-	-	-	60	40	100	A	6.50	4	26.00				
Public Opinion & Survey Research (POLS 204)	22	11	30	A	25	70	-	-	-	-	-	40	100	ABS	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 455/800			TC- 44			TCP- 267.00			GPA- 6.07							Grand Total: -				TMM: 1600	
UNIV ROLL NO : 1231880028 CAND.NAME : TAMANNA REG NO : 23-GDC-12			FATHER'S NAME : SHER SINGH							MOTHER'S NAME : MEERA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	24	11	30	49	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00	6.86	6.92	A+	PASS
History of India, c. 1707-1950 (HIST(A)204)	19	11	30	32	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Sociological Theories (SOCL-A 201)	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Methods of Sociological Enquiry (SOCL-A 202)	27	11	30	38	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	24	11	30	26	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	25	11	30	42	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Historical Tourism (HIST(A)213)	26	11	30	59	25	70	-	-	-	-	85	40	100	O++	9.00	4	36.00				
An Introduction to Archaeology (HIST(A)215)	27	11	30	35	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- 525 / 800					TC-44	TCP - 302.00	Dis. -			
First Year: MO/MM- 527/800			TC- 44			TCP- 307.00			GPA- 6.98							Grand Total: 1052				TMM: 1600	

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1231880029 CAND.NAME : TANISHA KAUNDAL REG NO : 23-GDC-19			FATHER'S NAME : ARJUN SINGH							MOTHER'S NAME : REETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Principles of Macroeconomics-I (ECONA201)	30	11	30	48	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00	8.61	8.46	O++	PASS
Principles of Macroeconomics-II (ECONA202)	30	11	30	55	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Comparative Government & Politics (POLS 201)	30	11	30	53	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Introduction to International Relations (POLS 202)	30	11	30	61	25	70	-	-	-	-	91	40	100	S	9.50	6	57.00				
English-2 Core English (Compulsory) (ENG CE 201)	29	11	30	47	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	28	11	30	56	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Legislative Support (POLS 203)	29	11	30	58	25	70	-	-	-	-	87	40	100	O++	9.00	4	36.00				
Public Opinion & Survey Research (POLS 204)	29	11	30	52	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
										-	MO/MM- 665 / 800					TC-44	TCP - 379.00	Dis. -			
First Year: MO/MM- 632/800			TC- 44			TCP- 365.00			GPA- 8.30			Grand Total: 1297				TMM: 1600					
UNIV ROLL NO : 1231880030 CAND.NAME : TANIYA THAKUR REG NO : 23-GDC-10			FATHER'S NAME : SATNAM							MOTHER'S NAME : INDIRA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	22	11	30	41	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00	6.50	6.81	A+	PASS
History of India, c. 1707-1950 (HIST(A)204)	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Sociological Theories (SOCL-A 201)	23	11	30	39	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00				
Methods of Sociological Enquiry (SOCL-A 202)	24	11	30	41	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	28	11	30	25	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Historical Tourism (HIST(A)213)	26	11	30	53	25	70	-	-	-	-	79	40	100	O	8.00	4	32.00				
An Introduction to Archaeology (HIST(A)215)	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
										-	MO/MM- 501 / 800					TC-44	TCP - 286.00	Dis. -			
First Year: MO/MM- 547/800			TC- 44			TCP- 313.00			GPA- 7.11			Grand Total: 1048				TMM: 1600					
UNIV ROLL NO : 1231880031 CAND.NAME : VINAY SHARMA REG NO : 23-GDC-34			FATHER'S NAME : SHYAM LAL							MOTHER'S NAME : URMILA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Hindi Kavita (HIND202)	17	11	30	38	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
Hindi Gadya Sahitya (HIND203)	17	11	30	44	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Comparative Government & Politics (POLS 201)	17	11	30	43	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Introduction to International Relations (POLS 202)	20	11	30	40	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-2 Core English (Compulsory) (ENG CE 201)	22	11	30	5	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Anivarya Hindi 'Rachna Punj' (HIND201)	18	11	30	36	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Karyalayi Hindi (HIND204)	18	11	30	31	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
Anuvaad Vigyan (HIND206)	17	11	30	42	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 418/800			TC- 44			TCP- 244.00			GPA- 5.55			Grand Total: -				TMM: 1600					

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1231880032 CAND.NAME : VISHAKHA THAKUR REG NO : 22-GDC-26			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : KAMLESH DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
History of India, c. 1707-1950 (HIST(A)204)	19	11	30	31	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Comparative Government & Politics (POLS 201)	20	11	30	39	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Introduction to International Relations (POLS 202)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-2 Core English (Compulsory) (ENG CE 201)	23	11	30	5	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	18	11	30	39	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Historical Tourism (HIST(A)213)	26	11	30	58	25	70	-	-	-	-	84	40	100	O+	8.50	4	34.00				
An Introduction to Archaeology (HIST(A)215)	23	11	30	36	25	70	-	-	-	-	59	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 424/800			TC- 44			TCP- 246.00			GPA- 5.59			Grand Total: -				TMM: 1600					
UNIV ROLL NO : 1221880008 CAND.NAME : HANS RAJ REG NO : 22-GDC-28			FATHER'S NAME : DEEP RAM							MOTHER'S NAME : BIMLA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	27	11	30	39	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	-	-	-	FAIL
History of India, c. 1707-1950 (HIST(A)204)	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Comparative Government & Politics (POLS 201)	26	11	30	47	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Introduction to International Relations (POLS 202)	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-2 Core English (Compulsory) (ENG CE 201)	20	11	30	12^	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	17	11	30	42	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Historical Tourism (HIST(A)213)	27	11	30	27	25	70	-	-	-	-	54	40	100	B	5.50	4	22.00				
An Introduction to Archaeology (HIST(A)215)	27	11	30	37	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 468/800			TC- 44			TCP- 275.00			GPA- 6.25			Grand Total: -				TMM: 1600					
UNIV ROLL NO : 1221880014 CAND.NAME : KHUSHI REG NO : 22-GDC-14			FATHER'S NAME : KHEM SINGH							MOTHER'S NAME : CHINTA DEVI							Exam Type : COMPARTMENT				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Hindi Kavita (HIND202)	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00	-	-	-	FAIL
Hindi Gadya Sahitya (HIND203)	26	11	30	43	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Sociological Theories (SOCL-A 201)	23	11	30	28	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Methods of Sociological Enquiry (SOCL-A 202)	25	11	30	38	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-2 Core English (Compulsory) (ENG CE 201)	28	11	30	11^	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	27	11	30	46	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Techniques of Social Research (SOCL-A 203)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Sociology of Environment (SOCL-A 204)	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	4	28.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 442/800			TC- 44			TCP- 265.00			GPA- 6.02			Grand Total: -				TMM: 1600					

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1221880001 CAND.NAME : AKANKSHA SHARMA REG NO : 12-GDC-02			FATHER'S NAME : KRISHAN DUTT							MOTHER'S NAME : SUSHMA							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	28	11	30	34	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
History of India, c. 1707-1950 (HIST(A)204)	26	11	30	44	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Comparative Government & Politics (POLS 201)	23	11	30	38	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Introduction to International Relations (POLS 202)	22	11	30	43	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
English-2 Core English (Compulsory) (ENG CE 201)	24	11	30	14	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Legislative Support (POLS 203)	18	11	30	44	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
Public Opinion & Survey Research (POLS 204)	22	11	30	34	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 426/800			TC- 44				TCP- 259.00				GPA- 5.89				Grand Total: -				TMM: 1600		
UNIV ROLL NO : 1221880002 CAND.NAME : ANCHAL REG NO : 22-GDC-31			FATHER'S NAME : VINOD KUMAR							MOTHER'S NAME : NEETA DEVI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	27	11	30	27	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
History of India, c. 1707-1950 (HIST(A)204)	19	11	30	31	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Comparative Government & Politics (POLS 201)	22	11	30	32	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Introduction to International Relations (POLS 202)	21	11	30	38	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
English-2 Core English (Compulsory) (ENG CE 201)	20	11	30	2	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	12	11	30	53	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Legislative Support (POLS 203)	22	11	30	40	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
Public Opinion & Survey Research (POLS 204)	19	11	30	34	25	70	-	-	-	-	53	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 422/800			TC- 44				TCP- 248.00				GPA- 5.64				Grand Total: -				TMM: 1600		
UNIV ROLL NO : 1221880010 CAND.NAME : KALPNA DEVI REG NO : 22-GDC-36			FATHER'S NAME : JAI SINGH							MOTHER'S NAME : YASHODA							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	23	11	30	29	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
History of India, c. 1707-1950 (HIST(A)204)	23	11	30	27	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Comparative Government & Politics (POLS 201)	14	11	30	34	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Introduction to International Relations (POLS 202)	15	11	30	36	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
English-2 Core English (Compulsory) (ENG CE 201)	20	11	30	8	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	17	11	30	40	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Legislative Support (POLS 203)	15	11	30	32	25	70	-	-	-	-	47	40	100	C	5.00	4	20.00				
Public Opinion & Survey Research (POLS 204)	19	11	30	30	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- /			TC-				TCP-				GPA-				Grand Total: -				TMM: 1600		

Course : BA(Regular Batch)

Year : Second

ExamYear : APRIL 2025

Date of Result Declaration : 07-July-2025

UNIV ROLL NO : 1221880020 CAND.NAME : MITALI KAUSHAL REG NO : 22-GDC-19			FATHER'S NAME : NANAK CHAND							MOTHER'S NAME : SEETA DEVI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Hindi Kavita (HIND202)	23	11	30	37	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
Hindi Gadya Sahitya (HIND203)	24	11	30	51	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Sociological Theories (SOCL-A 201)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00				
Methods of Sociological Enquiry (SOCL-A 202)	26	11	30	28	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
English-2 Core English (Compulsory) (ENG CE 201)	20	11	30	10	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	23	11	30	46	25	70	-	-	-	-	69	40	100	A+	7.00	6	42.00				
Karyalayi Hindi (HIND204)	21	11	30	30	25	70	-	-	-	-	51	40	100	B	5.50	4	22.00				
Anuvaad Vigyan (HIND206)	20	11	30	42	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 414/800			TC- 44			TCP- 243.00			GPA- 5.52			Grand Total: -				TMM: 1600					
UNIV ROLL NO : 1221880035 CAND.NAME : SANJNA DEVI REG NO : 22-GDC-37			FATHER'S NAME : LEKH RAM							MOTHER'S NAME : DHANNO DEVI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	27	11	30	35	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
History of India, c. 1707-1950 (HIST(A)204)	26	11	30	30	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Comparative Government & Politics (POLS 201)	22	11	30	42	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Introduction to International Relations (POLS 202)	23	11	30	40	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
English-2 Core English (Compulsory) (ENG CE 201)	22	11	30	12	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	21	11	30	42	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Legislative Support (POLS 203)	19	11	30	36	25	70	-	-	-	-	55	40	100	B+	6.00	4	24.00				
Public Opinion & Survey Research (POLS 204)	21	11	30	35	25	70	-	-	-	-	56	40	100	B+	6.00	4	24.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- /			TC-			TCP-			GPA-			Grand Total: -				TMM: 1600					
UNIV ROLL NO : 1221880041 CAND.NAME : TANISHA REG NO : 22-GDC-47			FATHER'S NAME : JAI PAL							MOTHER'S NAME : REENA							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
History of India, c. 1206-1707 (HIST(A)203)	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	6	30.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 201)
History of India, c. 1707-1950 (HIST(A)204)	28	11	30	26	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Sociological Theories (SOCL-A 201)	24	11	30	26	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Methods of Sociological Enquiry (SOCL-A 202)	24	11	30	33	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
English-2 Core English (Compulsory) (ENG CE 201)	20	11	30	14	25	70	-	-	-	-	40	100	F	0.00	6	0.00					
Anivarya Hindi 'Rachna Punj' (HIND201)	17	11	30	33	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Techniques of Social Research (SOCL-A 203)	23	11	30	44	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Sociology of Environment (SOCL-A 204)	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 434/800			TC- 44			TCP- 256.00			GPA- 5.82			Grand Total: -				TMM: 1600					

This result is declared as per the university ordinance and result declaration rules adopted by the university from time to time. The result is being processed through ERP system on the basis of the awards entered and verified by the colleges and the concerned examination branches.

**A.R. / D.R. (Exam-I)
H.P.University, Shimla-5.**

Dated :

**Controller of Examinations
H.P.University, Shimla-5.**

Note: This TR is also available on the Concerned Examination Branches, College id's and Department Chairman id's for their information and record purpose.

**A.R. / D.R. (Exam-I)
H.P.University, Shimla-5.**